GCE Questions
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Ans

(d)
	(a) Draw a diagram including server and clients to show the 3

basic topologies i) bus ii) star iii) ring                    [6]

(b) Give one advantage and one disadvantage  of each topology [6]

(c) Explain the purpose of each item of hardware. For each, given an

example of how it can be used in a network.

(i) switch  (ii) router  [4]

(d) Explain why standard protocols are needed in a wide area network  [3]
–protocol to setup link between the 2 parties(request for service and acknowledge)

-protocol to check and handle for errors during transmission

-protocol to manage transfer of packets through the network

-protocol to define the mechanical and physical aspect of the physical device
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	A cinema has a number of theatres. Booking is through a computer link to network. Uses bus topology. Describe network and hardware required. [6]
- bus station using a single communication line

- data is transferred between workstations and server using the same line when the line is free.

- collision can occur and

- data need to be transferred again

- Workstations for users each with printer for printing tickets

- Single cable for all workstations and computer to connect to

- Terminators at both ends of cable.

- Data server to store the booking data. 

Use parity checks for the following data characters
01010101 10001001 10000001 00111100

State with justification which of the bytes is corrupted [3]

1st byte even parity and rest are odd

Explain why other bytes may also have errors [2]

2 bit error cannot be detected by parity check as one cancels the other
Explain how parity can be used as a self correcting mechanism [3]
Use vertical and londitudinal parity check (see notes)
Explain deference between internet and intranet [2]
Internet is wide area network and is accessible to all.

Intranet is a private network using internet technology

Explain why chain uses an intranet rather than internet?

-transmission on intranet is more reliable. Internet sometimes very slow .

-server can be physically be protected against illegal access and whereby data on internet with some service provider is not as secured.
-can build own firewall against illegal access.

-Full control over the intranet and hence can control type of access by different types of users.
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Pp
	(a) on bus and star and ring topology

(b) Give one advantage and one disadvantage

(b) i) switch ii) bridge  iii) router

     Explain purpose of each item. Give one situtation where each

     can be used.  [6]

-switch : allows workstation and server to be connected

-hub : same as switch except that switch is more sophisticated.

-bridge : connects two local area network in the same locality

-router : connects a local area network to a Wide Area Network(WAN)

(c) What is an intranet. Give two ways in which the school might

     use one.  [3]

Intranet: a private network that uses internet technology.

LAN 1: one intranet for school administration

LAN 2: one intranet in a laboratory for teaching

(d) Describe 3 possible threats as a result of connection to

     internet. For each give a possible solution [6]

 -spread of virus. Use a good anti virus software

 -hacking of network. Use a firewall.

 -illegal access. Use a password. Control access to laboratory by using badges or cards
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	Question on bus network and topology.
(b) Justify choice of bus network over ring network (or wireless communication) [4]

Simple to setup and implement

Cheaper since one main cable

Suitable for small or temporary networks.

Cable faults easier to identify

Compared to wireless.

Wireless is less secured.

Wireless cannot penetrate some walls but cable is not a problem.



	
	Explain how music is stored in CD as digital data.
Explain how the quality of music can be improved.

Music are anolog signals.

The analog signals are sample at regular interval and

Each sample is converted to a binary digital data.

The quality of music can be improved by using more samples.




